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~HE X)) 120,000 *500H 60,000
-SEA &L 5,000,000& *14] 5,000
O=RU=gXZ 46,400,000 *14] 46,400
== 25,099
Al 21,301
Hegs 1,295,492 1,233,282 62,210
WEHHRI S (N S22 1) 1,295,492 1,233,282 62,210
Met2eDls & 1,295,492 1,233,282 62,210
RJ1sdES 1,295,492 1,233,282 62,210
01 JIsdEsS 1,295,492 1,233,282 62,210
OMtt2edl= 1,295,492
-3t 2SAH = Z AN HIHMNO 1/10
129,549, 140,270 %0. 01 1,295,492
AH2I3JH(LESZ) 79,798 80,158 A360
[2ZH(AHEZD) 79,798 80,158 A360
JlE2Zddl(etE S22 79,798 80,158 A360
201 ger=3| 31,318 31,318 0
01 AtR2te|H] 31,318 31,318 0
Oget=EH| 20,374
-JZ AR ESHI 100,000 19 1,900
“SAEXN 7Y 23,0002 302 A% 123 8,280
-SAD| =&l 500,0002 *1CH*43] 2,000
-2t EelHEN
350,0003 x4 2H4x23| 2,800
AR A2E FY 5,244
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SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
= INVIE 150,000& * 1CH*53] 750
- SAPD| EH 330,000 *1CH*53] 1,650
- oIH Tl EY
237, 0003 *4CH*33] 2,844
-J|23AE2EH| 150,000& *13] 150
O=&| 10,944
INED HRET ZAY
8,000&*19H x62U x 122 10,944
202 04| 45,600 45,600
01 2| 45,600 45,600
Ot EZ HR=X 2HHOH]
20,000 *19Y *103| x 128 45,600
203 YR =XIH| 2,880 3,240 A360
04 ENSHLRFEYI 2,880 3,240 360
Ootd =21t 300,000 * 122 *80% 2,880




